

# Ginvariance

Thursday, October 5, 2017 4:52 PM

- In the handbook

$$A'_\mu = S A_\mu S^{-1} + \frac{i}{g} [\partial_\mu S] S^{-1}$$

$$A_{\mu}^{ab} \rightarrow (1 + i w_a t_a) A_{\mu}^{ab} (1 - i w_a t_a) + \frac{i}{g} [\partial_\mu (i w_a t_a)] [1 - i w_a t_a]$$

$$= A_{\mu}^{ab} t_a + i w_a t_a A_{\mu}^{ab} - A_{\mu}^{ab} t_a - i w_a t_a + \frac{i}{g} [\partial_\mu (i w_a t_a)] [1 - i w_a t_a]$$

$$= A_{\mu}^{ab} t_b + i w_a t_a A_{\mu}^{ab} [t_a t_b - t_b t_a] - \frac{1}{g} \partial_\mu w_a t_a$$

$$= A_{\mu}^{ab} t_b - w_a A_{\mu}^{ab} f^{abc} t^c - \frac{1}{g} \partial_\mu w_a t_a$$

$$A_{\mu}^{ab} t^b = A_{\mu}^{ab} t_b - w_a A_{\mu}^{ab} f^{abc} t^c - \frac{1}{g} \partial_\mu w_a t_a$$

$$\Rightarrow \text{Consider } -\frac{1}{4} F_{\mu\nu}^a F^{\mu\nu a} =$$

$$= -\frac{1}{2} \text{Tr}(F_{\mu\nu}^a t_a) F^{\mu\nu b} t_b$$

$$\text{Using the fact that } \text{Tr}(t_a t_b) = \frac{1}{2} \delta^{ab}$$

$\Rightarrow$  Now we consider the Gauge Transformation of

$$A^{\mu a} \rightarrow A^{\mu a} - \frac{1}{g} \partial^\mu w_a$$

$\hookrightarrow t^{\alpha\beta}$  using  $\Gamma_{\mu\nu} - \Gamma_{\nu\mu} - g^{\alpha\gamma} f^{abc}$   
 $- w_b A_\mu^c f^{abc}$

$$F_a^{\prime\omega} t_a = \partial_\mu A_a^{\prime\nu} - \partial_\nu A_a^{\prime\mu} - g f^{abc} A_\mu^b A_\nu^c =$$

need to show

$$\begin{aligned}
 & \partial_\mu \hat{A}^\nu - \partial_\nu \hat{A}^\mu - g f^{abc} A_\mu^b A_\nu^c t^a + \\
 & + i \hat{w} (\partial_\mu \hat{A}^\nu - \partial_\nu \hat{A}^\mu) - (\partial_\mu \hat{A}^\nu - \partial_\nu \hat{A}^\mu) i \hat{w} = \\
 & - i \hat{w} g f^{abc} A_\mu^b A_\nu^c t^a + i g f^{abc} A_\mu^b A_\nu^c t^a i \hat{w} =
 \end{aligned}$$

$$\begin{aligned}
 & \partial_\mu \hat{A}^\nu - \frac{1}{g} \partial_\nu \partial_\mu \hat{w} - \partial_\mu (w_b A_\nu^c t^a f^{abc}) \\
 & - (\partial_\nu \hat{A}^\mu - \frac{1}{g} \partial_\mu \partial_\nu \hat{w} - \partial_\nu (w_b A_\mu^c t^a f^{abc})) \\
 & - g f^{abc} t^a (A_\mu^b - \frac{1}{g} \partial_\mu w^b - w_b' A_\mu^c f^{b'c'}) \\
 & (A_\nu^c - \frac{1}{g} \partial_\nu w^c - w_b' A_\nu^c f^{b'c'}) =
 \end{aligned}$$

$w^0$

$$= \partial_\mu \hat{A}^\nu - \partial_\nu \hat{A}^\mu - g t^a f^{abc} A_\mu^b A_\nu^c$$

$$\begin{aligned}
 & - (\partial_\mu w_b) A_\nu^c t^a f^{abc} - w_b \partial_\mu A_\nu^c t^a f^{abc} \\
 & - (-\partial_\nu w_b) A_\mu^c t^a f^{abc} - w_b \partial_\nu A_\mu^c t^a f^{abc}
 \end{aligned}$$

$$-gf^{abc} t^a A_\mu^b \left(-\frac{1}{g} \partial_\nu w^c\right) - gf^{abc} t^a A_\nu^b \left(-w_\mu^c \partial_\nu f^{c' b' a'}\right)$$

$$\rightarrow gf^{abc} t^a \left(-\frac{1}{g} \partial_\nu w^b\right) A_\nu^c - gf^{abc} t^a \left(-w_\mu^c \partial_\nu f^{b' b' c' i}\right) A_\nu^c$$

$$(a+a) = 0$$

$$(b+b) = \cancel{\partial_\nu w^b A_\mu^c} t^a f^{abc} + \cancel{A_\nu^b \partial_\nu w^c} f^{abc} t^a = 0$$

$$(c+c) = -w^b (\partial_\mu A_\nu^c - \partial_\nu A_\mu^c) t^a f^{abc} = 11$$

$$[t^b t^c - t^c t^b] = i f^{abc} t^a$$

$$11 \epsilon w^b (\partial_\mu A_\nu^c - \partial_\nu A_\mu^c) [t^b t^c - t^c t^b] =$$

$$i [\hat{w}, (\partial_\mu \hat{A}_\nu - \partial_\nu \hat{A}_\mu)] \rightarrow \text{OK}$$

$$(d+d) + gf^{abc} t^a A_\nu^b \left(f^{c' b' c'} w_\mu^c A_\nu^{c'}\right)$$

$$+ gf^{abc} t^a A_\nu^c \left(f^{b' b' c'} w_\mu^c A_\nu^{c'}\right) =$$

$$= -ig [t^b t^c] A_\nu^b \left(f^{c' b' c'} w_\mu^c A_\nu^{c'}\right)$$

$$-ig [t^b t^c] A_\nu^c \left(f^{b' b' c'} w_\mu^c A_\nu^{c'}\right) =$$

$$= -ig \left( \hat{A}_\nu^c t^c f^{c' b' c'} w_\mu^c A_\nu^{c'} - t^c f^{c' b' c'} w_\mu^c A_\nu^{c'} \hat{A}_\nu^c \right)$$

$$\left( \hat{A}_\nu^c t^c f^{c' b' c'} w_\mu^c A_\nu^{c'} - \hat{A}_\nu^c t^c f^{c' b' c'} w_\mu^c A_\nu^{c'} \right) =$$

$$-ig (t^a t^b w_b^c A_\mu^a - t^b t^c w_b^a A_\mu^c) -$$

$$= -ig (A_\mu^a (-i) [t^b t^c] w_b^c A_\mu^a - (-i) [t^b t^c] w_b^c A_\mu^a)$$

$$-ig (i) [t^b t^c] w_b^c A_\mu^a - (-i) A_\mu^a [t^b t^c] w_b^c$$

$$= -g [A_\mu^a \hat{w} A_\mu^a - \hat{w} A_\mu^a A_\mu^a - \hat{w} A_\mu^a A_\mu^a + A_\mu^a \hat{w} A_\mu^a]$$

$$= -g [\hat{w} A_\mu^a A_\mu^a - A_\mu^a \hat{w} A_\mu^a - A_\mu^a \hat{w} A_\mu^a + A_\mu^a \hat{w} A_\mu^a]$$

$$= -g [\hat{w} A_\mu^a A_\mu^a - \hat{w} A_\mu^a A_\mu^a - (A_\mu^a A_\mu^a - A_\mu^a A_\mu^a) \hat{w}] =$$

$$= -g [\hat{w} [A_\mu^a A_\mu^a] - [A_\mu^a A_\mu^a] \hat{w}] =$$

$$= -ig \hat{w} f_{abc}^a A_\mu^b A_\mu^c + ig f_{abc}^a A_\mu^b A_\mu^c \hat{w}$$